Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.5.dwg

STEVES AND SONS

203 Humble Ave.

San Antonio, TX 78225

STEVES

,[/

1/4 LITE 1/2 LITE FULL LITE

w/ MICROBLINDS

FULL LITE

LEGACY DECORATIVE & MICROBLIND COLLECTION

DIRECT GLAZED FIBERGLASS DOOR
DOUBLE

INSWING/OUTSWING

74" MAX. OVERALL

"NON" ’MPA CT" FRAME WIDTH
z
GENERAL NOTES z .F
<3 Sk
. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building O£ e 6__
Code (FBC) structural requirements excluding the "High Velocity Huricane Zone" (HVHI). g (':75 g = X ° X
= -0 o
= W D 7T
2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base i i uf
material shall be beyond wall dressing or stucco. @© §< © E
oz / /
o e Vi Va
3. When used in areas requiring wind borne debris protection this product is required to be protected - -
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC. ‘ ‘ ﬂ
4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.
5. Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.
TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 6 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 7 Horizontal & Vertical Cross Sections (Direct to Masonry) XX 74.0" x 81.5"
3 Panel Options 8 Vertical Cross Sections YES +45.0
4 Elevations 9 Buck & Frame Anchoring & Hardware Details
5 Horizontal & Vertical Cross Sections (2X Buck) 10 Bill of Materials & Components

June 7, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

w

Lyndon F. Schmidt
P.E. No. 43409

R

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NOJ DATE

REVISIONS

DATE: 4/20/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41479.5

SHEET _1 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



URR NN RN
L +1f

3

v
2
-
»

i il fs
~1.2 2.4 S W,
©2) — 05" & Yz 8
!_‘—‘ ’ :§” » *e w” g’)
~ . % - ¥
- 5 SOTERRE T SSY 8 e
0 B e T+ | 5 T . SEf 5, BRI
. . ; v COMPOSITE s ZOoil ES=®on,
PP A S 3 CAP 203 2 GOSE s55
RREX S ipSz8a8
B Da I / \ \ a4 . ’, ) %e .". Q\\\ 5 © 8 o
= L ~ R s O e &
’ W Z 0o
2 1 wit omoE
HINGE STILE LOCKBLOCK  LATCHSILE  COMPOSITE & T OB
e 1"\ HORIZONTAL CROSS SECTION 19.75'LONG vy CAP it [ g% 23x28
b = 0
2/ vy Ter 1:3 50 fu
AR alt °2 Bo&l
A 8 2 u
», oo e 6
GLASS BITE | FIBERGLASS SKIN —"F*g "» " ity &
B : v, o !
—— 1"O.A. THICK GLASS S ] G
INTERIOR v e
1/8" TEMPERED GLASS "
. —
U DECORATIVE INSERT RS
GLAING <# » . - e S .
35.75" MAX. DOOR COMPOUND . ~_ T 28 =
1/8" TEMPERED GLASS 2als xly
21" MAX D.LO. EXTERIOR N = ~3l3 8
SWIGGLE SPACER uelm 2
4 owlal <
ED2 o
G1) GLAZING DETAIL I
DECORATIVE GLASS il 2 °
K/ o o
= 2 EXTERIOR INTERIOR & =
m i GLASS BITE ¥ %
Y, = < NTERIOR —— 1"O.A. THICK GLASS ~-
s | _ /8 TEMPERED GLASS @@
o £ i e L BLIND INSERT — .
T 33 T GLAING < ZF » ¥
[a74 o
Q ==L X @ oy COMPOUND AR SPACE — < M 2
2 89 @ [ 1 /8" TEMPERED GLASS ey =
3 (] et T 14
2 ‘- EXTERIOR FOAM SPACER N 2
= \ w/ ALUM INSERT N =
> G2) CLAZING DETALL LR
SEE HARDWARE TABLE w/ MICROBLINDS LR
, (LATCH & DEADBOLT) e
V4 _ FOAMCORE— [ » . % * N
/ (POLYURETHANE)  |[** ». -~ - - L
. i <C
= (o]
] MODEL BOTIOM RAILL _——{E= 3 =
cwiksgr | LATCH:  SIGNATURE SERIES RE'NF?LRV%EMENT L=
2 DEADBOLT:  SIGNATURE SERIES (980) DATE: 4/20/22
(ERAE SCALE: .o,
SCHLAGE |WATCH: 51 BOTTOM RAIL— L p— N TRiv
| DEADBOLT:  B6ON (COMP.) B
@nsskemss DOOR PANEL | P
ROCKWELL | Dol REMIUM DEADBOLT [ 2\ VERTICAL CROSS SECTION ORARNG No:
DEADBOLT:  PREMIUM DEADBOLT FL—41479.5
FIBERGLASS DOOR SKIN: MIN. 0.08" THK. W
CORE MATERIAL: POLYURETHANE FOAM SHEET 2 oF 10

Z:\Clients\Steves and Sons - Perrﬁanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.5.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



TON| SLNVLANSNGOD 9NIaTNg "M'd 2202

€186 ‘ON Auisibey Idgd SNOISIATY
LEBLEB6G9'LLB "ON suoyd A8 31va [ON 0 1o
S6SEE 14 ‘OSMIPA ‘'0£Z Xog ‘O'd \Su SNOULAO T3NVd Slailz|e| g
0—7_:_ ~.-w.r2<._.n_DWZOO ONIaTiNg @ CATENESSY 0 Ldvd W M s v H s
W\ 17 AN Z<im
////% J(ZO\Q\\\\\ 60beh ON “T'g d00Q SSY19y434id s lgle ! _
////0 -.&Qm@w..oﬁw&\\\ IPIIYDS "4 uopuAT] SNOS % S3AJLS g M o lylE o m
I/&. -* e, \J\\%m peiodeld sjuswinsog -LoNaodd 2181815 m %

»*
B0¥EY ON

PERERREN N
-a® 09
e See.

W
SO

\)

.
.
.
.
'
»
hd

oocoo w”zwoa oo-ot%
& ML TP .\u
7, Q\:Iom w I////

%,
/)
i

FULL LITE
w/
MICROBLINDS

>

o

- -

QO

Ly

(-

[

O

@)
S 58}

Sl m Q

- — <

R s el

u- )

O

oz

O

=

ol

L

>

= —

a N

- O

Q

L

Q

S

Q

<L

Q)

T

L |
I !
A m
/_ : |

Bmp's 6.7 Lp-1\0202) 6211 p-TASBUIMEI] - D\SINIS ADYOIT 6L Lp-TA\slenoiddy 1onposd BpUO]4 - Y\IUBURWIA - SUOS PUe SIARIS\SIUBIDNZ



TONI SANVYLINSNGD aNIQTIiNg MY 2202 @

£186 ‘ON Ansibey Idad SNOISIATY

LB16°6G9°CLY "ON 8suoyd Ag 41vd [ON nio
S6SEC 14 ‘OOUIDA ‘0T XOg ‘O°d \§ SNOILYATT3 m GdlEIL| @ H~
07_:_ _.m.pzﬁ._amzoo oNIaling Nﬁ. INTENISSY 80 1avd S M . <9

{ 11 o
it 1, 000 SSY1943dld Nt I B R0
OB JMQO\@%\\\ 60YEH "ON "3'd SNOS % S3AILS ML e n_
///@40&3« Y, WPudS T4 uopuly i m Sl w T
.Il&... *, % kg peipdely sjuswinoog :LoNaoHd S 2|58 &

TT0T ‘L dung

AEARENI

©
2\
\8/
ELEVATION
XX

BMp's'62Lr-14\0202) 6LFLE-T14\sBumelq - D\SIMIS ADYDI1 6. Ly-T4\sierosddy 3onpoid BpUOl - Y\USURWIRG - SUOS pUe SaARIS\SIUsliD\Z



i
\ . 7. 8
s o A > g M
’ Y RO = g - >
v s . e é : . (fi -
v = v = o0w
“ S N > . ;’-": % _g oo
, z 5 %, P ] H56 s
; Z (73 MALTTIRY i N 5 > 4
a2 | o -—~ <‘é “ W 250
S 0.15" C-SINK zE By o xS
s UG < — 2 P
T et N el T3 B —© 2fs 5%e,
- - €68 5025
@ e e g N ¢ Dotk
. ‘ : Sle v,
) 6 L8 L ‘\‘“ £ iy §
o 4 A, ANV Y N 1 z g '82
" 4“, AR g 8 ghé
oo INTERIOR g ==L @
S —_
| %S
sl | OB
4 ‘ ‘4‘ 3 A NNNERRROR AN & RO \\ % § §§
s e, ~ EXTERIOR 1]l INTERIOR 3. s
1= N sl " ‘ %gg AS
o » > &O uEJ 'SB
o ) (" 2\ VERTICAL CROSS SECTION Sh|H &8
44 Shown w/ 2X Buck .. oI =
N EXTERIOR 3 S eeing sown 52 |2l 58
po
1-1/4' MIN, o 3 o &
EMB. (TYP.) - @ & =
>.
m
/~1 "\ HORIZONTAL CROSS SECTION
WShown w/2XBuck
Qutswing shown (Inswing similar)
33 0
SEE NOTE 1 =g o
INTERIOR T & >
[t
/ ¢
Li
\x :
0
EXTERIOR /i o
EAERLR Q @ EXTERIOR INTERIOR . 47202 22
/3 "\ VERTICAL CROSS SECTION oA N.T.S.
Note: /“4 \ HORIZONTAL CROSS SECTION NS oo B RW
1. Screws located 8" from each end of asiragal plus W Outswing shown {Inswing similar) CHK. BY: LFS
four (3) more located @ 23", 37" & 48" down from DRAWING NO.:
the top of the astragal {5 screws total - countersink 3/16"). FL—-41479.5
SHEET _ 5 oF 10

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.5.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



TON| SANVATINSNGOO aNIaTing "My 2202 @

£186 ‘ON Ansibey Idad (o8 X1) SNOILO3S SSOMD SNOISIAZY
LELE'6G9°CL8 "ON suoyd F
sssss 15 “eauion ‘05z vou 04 ] WOUNIA ® WINOZROH = |48 e NP S EEIE
Nt | SLNVLINSNOO ONIdTINg K KIBNESSY d0 Lavd S bl e BN
4&:r<z.%$¢ o 4000 SSY19438l4 W Sl - s of
R i ST 60vSY ON “3'd SNOS % SIAILS LB B
S L Gaiioys. %, IPILUYDS ‘4 UOPUA] " dUIED G
’/&/ «* ‘o f.o&\ m m (<] 4 i
~ - %, V7. :Ag pedodesy syuewnseg 19Na0¥d ZI81ElS w 5
m" .... TTOT ‘L sung
i
$ . eOovEyON
“\ ‘ﬂl. o.. I,,
\\\\ &wowﬁuﬁcaﬂo} /,/,
Seees Ty Ry
\\\\Q\metow W,,z//
Higpw o
Q
[»*4
o
=

/" 3"\ VERTICAL CROSS SECTION
w Shown w/ 1X Buck
Inswing shown

EXTERIOR

@ - %@\@

s

('dAL) "gw3
"NIW /11

a4

o SARNWR g

4 -

INTERIOR

ST i T T

JIHETI T
W

72"\ VERTICAL CROSS SECTION
w Shown w/ 1X Buck
Qutswing shown

EXTERIOR

(dAL) "aw3

"NIW 7/ 1-1

INTERIOR

~

Z b L EXTERIOR
/"1 "\ HORIZONTAL CROSS SECTION

\\é/ Shownw/1XBuck
Outswing shown (Inswing similar)

BMP'§ 6.7 L7-14\0202) 6L 1Ly-TH\sBUIMBIQ - D\STIYIS ADVDIT 6.7 LY-T4\s|erciddy 1onpoid epuold - Y\iusueuisdd - SUos pue SaAIS\SIUBID\Z



TON] SINVLAINSNGOG aNtaTiing "m'd 2202 @

(RN
\\\\ X

&

£186 ON ~neboy 3dad (AYNOSVA OL 103¥10) SNOILOIS SNOISIASH
LE61l6°6G9°CL8 "ON 8uoyd ]
Seses 14 "oouion ‘05z %08 ‘0'd ] | SO0 TOILMSA # WINOZIHOK A8 O N N AERE
.O—dn~.~WPZ<FJDWZOO ONIgTiNng g‘ CA1GWNESSY HO  Livd Wm x| e W (2
1 11 N & ~—
Wi 7 ¥00a SSV19M3414 N IR ERSIN
zmv%.a Kﬁm@%\\\ Sorsy “oN “3'd SNOS ® SIAILS NMEEE |
& ....4083«....&\\\ IPILYOS 4 uopukl i m o K.WF L
- %) = :A8_peiodeid sjuswinoog :LONaoYd HEIEHEE i
; 7207 L oung
. 80¥EPON ¢ =
. '. ,’
.‘ ;I ,
‘o IINTON A, &
\&Q\u@:::...w ////
\\\\ Iuw ////
Hippay
o
o)
i
2
5
g
2
Q18
Az
&io
{33
< =g
Vg
=
& o3
SI5E
mw

('dAL) "aw3
"NIW /-1

\\wwW///\\\\

EXTERIOR

("dAL) "aw3
NIW #/1-1
o)
[24
mb
= =
o
G
W=
nl3
%15
o=
Sles
3>
upg
— n.m
|52
5 >I50
&
£ NN~
(AN

m’ S
& &
B & >
NS F
5|
2
>
nnico
fond
CMM\
~)za F°:=
2E 532
s Qo
- b
Qj25
x50
m

7/

BMP'§ 6.7 L7-14\0202) 6L7Lp-T4\sBuUIMeIQ - D\STIYIS ADVOTT 6.L7Ly-T4\s|er0iddy 1onpoid BpLOY - Y\iudUeUISd - SUOS pue SaARIS\SIUAIIDNZ



TON| BANVLIINSNGOD @Nianng

‘Md 2202 O

1lilliLe
* L]

o196 ‘oN Ansibey 3ddd

LBLE°6S9°CLR "ON euoyd SNOILO3S SHOISIASY 31vd _[ON

G6SEE T4 ‘OoUIPA ‘0T X08 ‘O°d \Su SSOHI "TYOLLE3A A8 - NG 3 m_
oni _..mkzﬁ._:mzoo sNIaling g LI@N3ssy d0 1avd W/W . % s

N §
iy, 4000 SSY10¥383 NIRRT

R e 60vSy ‘ON ‘I'd SNOS % S3AILS ¥ sl Ele
h./@...&.OEOm&.... /N\\\\ PIUYDS "4 UOpUAT] g w sle|EE|H
II& ¢ .... e A8 peibdesd sjuswinoog <LoNa0¥d £18138]3 W G

-

TT0T ‘L sunf

EXTERIOR

\\

15

INTERIOR

(30)

A\

EXTERIOR
39

/ 2"\ VERTICAL CROSS SECTION

w Outswing Threshold

(dAL) "aW3

14

INTERIOR

I/ &

=

‘NIW.#/1-1

/"1 \ VERTICAL CROSS SECTION

\8/ Inswing Threshold

(dAL) w3
"NIW ¥/ 1-L

BMP'S 6. 1L r-14\0207) 6L7LE-T4\sBUIMEIQ - D\STIYES ADVOTT 6.7 L1-Td\sierosddy 10npoid BpLO}S - Y\JUBUBWLIR - SUOS pue SAABIS\SIURNDNZ ‘



Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.5.dwg

FRAME CORNERS ATTACHED w/ {3} 7/16"
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2}

" (E #7 X 1-5/8" DRYWALL SCREWS @ HEAD & SiLL
( T;‘P 1 (TYP)

— e e ] 3'(TYP.) —— 6" (YR

GlmiAs A e 4 #P) — |

4 .: . } t = T ]

": y ...l l l ] L. l ‘\ jl l l ,,,

= M . :1 — /
o 7 EE\

] o . B st

A “ = E ©E Z=z SEE HINGE

~ — 2X BUCK - 8 3 DETAIL
o 1X BUCK - g (TYP.)
o~
2XBUCK || - FRAME  [l— DIRECTTO SEE —l — =
HEAD & JAMBS MASONRY \ ASTRAGAL/SURFACE
\\ (TYP.) HEAD & JAMBS BOLT STRIKE BOLT
| (TYP) DETAILS 1
R Y SEE LATCH
GE =) 8 DEADBOLT
L 4 — - & L DETAIL

S = >

= |

2% - DOOR SILT :

= JE —, M | - 8¢

. ., ‘i T o L1

et s 32 = i

L AT - =

HINGE JAMB COMPOSITE ASTRAGAL
7" STEEL FLIP LOCK FLUSHBOLT (5/16" @)
MASONRY @ EACH END OF ASTRAGAL
DIRECTTO
MASONRY
\ 1X BUCK
DIRECTTO § ox BUCK

| I .

1.

MASONRY ® o Olo)
DIRECT TO 1X BUCK o<l
MASONRY \ . ﬂ

1X BUCK 2X BUCK ASTRAGAL BOLT
@ 2X BUCK /o @\ _@:>@ \
@? @ 7ol = 7 HINGE DETAIL
o = 7 i INSWING
L/ <~ Li} o N s == @< }‘,_@
S j o i ], \\ / \\ ‘-/.LI % /'T = N f?/\ligg]l.‘lTRoY
S ¥ AT = ’ \
/ o LATCH & DEADBOLT DETAIL ¥ 1XBUCK
2x Buck( J @SILL &
@ 1X BUCK @ HEAD :' Hl, \h—] 2X BUCK
DIRECT TO o F| efi~
@ HEAD 31 st MASONRY @é" [lje @
ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS \{\
INSWING QUTSWING
HINGE DETAIL
HARDWARE DETAILS OUTSWING

June 7, 2022

-
P.O. Box 230, Valrico, FL. 33595
813.659.9197

7,

“
BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By:«,\Z
FBPE Registry No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

STEVES & SONS
FIBERGLASS DOOR

PART OR_ASSEMBLY:
& HARDWARE DETAILS

BUCK & FRAME ANCHORING

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4./20/22

scale:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—-41479.5

SHEET _ 9 oF 10

© 2022 R.W. BUILDING CONSULTANTS ING.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.5.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 1XBUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH [TW CONCRETE SCREW STEEL
H 3/16" X 3-3/4" PFH ITW CONCRETE SCREW STEEL
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW {1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

| COMPOSITE JAMB COMP
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
30 8" SURFACE BOLT (HAGER 275D) STEEL
31 SURFACE BOLT GUIDE PLATE STEEL
32 SURFACE BOLT STRIKE PLATE STEEL
33 #10 X 2-1/2' PFH WOOD SCREW STEEL
37 ASTRAGAL STRIKE PLATE STEEL
38 ASTRAGAL (COMPOSITE) COMP
39 #10 X 2" FH SMS STEEL
40 DOOR PANEL -

41 #7 X 1-5/8" DRYWALL SCREW STEEL
42 #8 X 2-1/2" FH SMS STEEL

1.25"

4.5¢"

0.75"

1

1.44"

| 213" —

COMPOSITE JAMB

WORLDWIDE "4EVER"

- 1.44" ]

5 _
S 3
106" T

0.94"

@ COMPOSITE ASTRAGAL

= 5.62"

14 INSWING THRESHOLD

Columbia

244" i

4.6"

CONCRETE ANCHOR NOTES:

15 OUTSWING THRESHOLD

Columbia

edge distance to mortar joints.

PrIld

‘e
00000

. Concrete anchor locations at the comers may be adjusted to mainiain the min.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
. Concrete anchor table:

TTW BUILDEX

P.O. Box 230, Valrico, FL 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

June 7, 2022

813.659.9197

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR
PART OR_ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

NO.) DATE

REVISIONS

DATE: 4,/20/22

wood screws fo prevent the splitting of wood.

TAPCON® SCALE: N.Téi}
DeWALT DWG. BY:
NS 1-1/4" 1 4" -
ULTRACON+ CHK. BY: LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL-41479.5

SHEET 10 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.





